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FOREWORD

This report presents Students’ Items Response Analysis (SIRA) on Form Two
Arabic Language National Assessment which was conducted in 2023. The report
intended to provide feedback to all educational stakeholders on the factors that
contributed to the students’ performance in Arabic Language.

The Form Two National Assessment (FTNA) is a formative evaluation which
intended to assess students’ learning and provide feedback that, teachers, students
and other educational stakeholders can use it to improve teaching and learning.

This analysis provided justifications for the students’ performance in the Arabic
Language subject. The students who attained high scores had adequate knowledge
of tenses and grammatical rules tested. They also had sufficient basic vocabulary to
use in different contexts and the ability to understand the requirements of the
question and choose correct responses in multiple choice questions. Moreover, they
matched the vocabulary with their explanation. On the other side, students with
zero or low marks faced difficulties in responding to the questions due to their
msufficient knowledge of the topics tested and the ability to understand the
requirements of the questions.

This report will help students to identify strengths and weaknesses of their
responses in Arabic Language which will improve learning before sitting for their
Certificate of Secondary Education Examination (CSEE). It will help teachers to
identify the areas that need improvement and take appropriate measures during
teaching and learning.

The National Examinations Council of Tanzania (NECTA) expects that the
feedback provided in this report will shed light on the challenges for which
education stakeholders should take proper measures to improve teaching and
learning of the Arabic Language subject. Consequently, students will acquire
knowledge, skills and competence indicated in the syllabus for better performance
in future assessments and examinations.

The National Examinations Council of Tanzania (NECTA) appreciates the
contribution of all those who prepared this report.

%_.

Dr. Said Ally Mohamed
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

This report analyses the performance of students who sat for the Form Two
National Assessment (FTNA) in the Arabic Language subject in 2023. The
Arabic Language Assessment was set according to the Form One and Two
Arabic Language syllabus of 2019.

The Arabic Language paper consisted of three sections, namely A, B and C,
with a total of 10 questions. Students were required to answer all the questions.

Section A had two (2) questions, where question one (1) had 10 multiple-choice
items. Students were required to choose correct answers from the alternatives
provided. Each item carried one (1) mark, making a total of 10 marks. Question
two (2) consisted of five (5) matching items. Each item carried one (1) mark,
making a total of five (5) marks. Therefore, this section carried a total of 15
marks.

Section B consisted of seven (7) short answers questions. Each question carried
10 marks, making a total of 70 marks. Section C had one (1) essay question
carrying a total of 15 marks.

A total number of the students who sat for the Form Two National Assessment
in 2023 in Arabic Language was 2.536, of which, 1,221 (48.72%) students
passed and 1,315 (51.28%) of the students failed. In 2022, students who sat for
the Form Two National Assessment were 2.406; out of whom, 1,012 (47.83%)
passed and 1,394 (52.17%) failed. This implies that the performance of the
students in 2023 has increased by 0.89 per cent as compared to the year 2022.

This report shows the requirement of each question and how students responded
to each question. Further, it presents samples of students’ responses for each
question. This was done so as to provide a general overview of how the students
responded to the questions.

The students’ performances have been grouped into ‘good’, ‘average’ and
‘weak’. In this analysis, the performance ranging from 65 to 100 per cent has
been categorised as ‘good’ and is represented by green colour; the performance
ranging from 30 to 64 per cent has been categorised as ‘average’ and is
represented by yellow colour and the performance ranging from 0 to 29 per cent
has been categorised as “poor’ and is represented by red colour. The overall
students’ performance 1s summarised in the Appendix “A’.
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2.0
2.1

ANALYSIS OF STUDENTS’ PERFORMANCE ON EACH QUESTION
SECTION A: Multiple Choice and Matching Items

This section consisted of two questions. Students were required to attempt both
questions one and two. Question one (1) was a multiple-choice items. It had 10
items that carried 10 marks. Question two (2) was matching items. It had five (5)
items, each carrying 1 mark, making a total of 15 marks.

2.1.1 Question 1: Multiple Choice Items

This question had 10 multiple choice items. The students were required to
choose the correct answer from the given alternatives and write its letter in the
box provided.

The question was attempted by 2,536 (100.00%) students, among them, 237
(9.35%) students scored from 7.0 to 10.0 marks, which is a good performance.
Also, 1,561 (61.55%) students scored from 3.0 to 6.0 marks, which is an average
performance. Lastly, 738 (29.10%) students scored from 0.0 to 2.5 marks, which
1s a weak performance. Therefore, the general performance in this question was
good as 1,798 (70.90%) students scored from 03 to 10 marks. The overall
students” performance in this question is summarised in Figure 1.
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Figure 1: Students’ Performance in Question 1
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Item (1) was as follows:-
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The item was about &/s/s oS (Kaana and its counterparts). In this item, the
students were required to identify the correct answer by choosing deficient verb
(u<dli Jd which was "« ". The students who were knowledgeable of LS
(4515315 (Kaana and its counterparts) opted for the right answer (). The students
knew that, among the options provided it was only option (z) which was
deficient verb (u<f J2é ) found in the options provided. These students
demonstrated the ability to distinguish between &=/s3/s o (Kaana and its
counterparts) and 133/s & (Inna and its counterparts) which were used as
distractors.

However, the students who selected a wrong answer (<) <= confused it with
"<I" in (z). This is due to the fact that, the two words only differ in the last
vowelled consonant (<) /t/ and () /s/

In addition, the students who chose (1) and (2) were wrong because they were not
among the members of &/s3/s oS (Kaana and its counterparts) instead they
were the members of &/si/s &/ (Inna and its counterparts). The students were
totally lacking knowledge on this topic of /sdly o (Kaana and its
counterparts).



Item (2) was:
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This item was from the conditions of al-binaau and al-iiraabu. The students
were required to identify the condition for past tense to be structured (cemented)
when it is linked with the first person plural pronoun (cxelill e 44 4. The
students who were knowledgeable on conditions for tenses to be structured
chose the correct answer (<) ¢~ These kinds of students understood well.
The students understood that, when the past tense linked with the above
mentioned pronoun will be structured on swkun. Consequently, they identified

the right word “Cs<d/” in (&)

However, the students who selected (1) were wrong. This is because Arabic past
tense is structured on far-A; if the tense is not linked with any pronoun or linked
with a/if of two doers (u-w’Y»‘ uﬁﬂ or linked with 7aa of feminization with sukun
( 4-1_-_‘71-4-‘-3 ;_—r,-;_-fLJr‘ £0. The students thought that every past tense should be
structured with far-/ and not otherwise, something which is incorrect.

In addition, some of the students selected distractor (g) omission (f-"lfjifb The
students who opted for the distractor (z) did not understand the term omission
(f-ﬂ-'-\-fﬂ The word meant to omit, and there is no any past tense which is
cemented mabniyyu by omitting (- f—ﬂ-'-\-fﬂ

Some of the students opted for the distractor (3) alif (<%¥). The word “<i¥" in
the statement disqualified it to be the correct answer. The students who opted for
this distractor () attracted by the letter alif in the pronoun (¥). This shows that
they lacked knowledge in this topic of conditions of al-binaau and al-iiraabu.



Generally, the students who identified the correct answer in this item were
familiar with conditions through which Arabic tense are constructed ( s J/s8/
Jaé¥) while those who failed lacked such knowledge.

Item (3) was as follow:-
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The item was about Arabic Declinable and Indeclinable Words (g-“‘-”j ‘-u'-dﬂ
The students were required to identify the word which is indeclinable among the
given alternatives. Some of the students successfully attempted the correct
answer (4) £¥# (they). These students had sufficient knowledge on Declinable
and Indeclinable words of Arabic Language; as a result, they chose (2)#¥3

(they).

The students who opted for (z) <& confused it with some other relative
pronouns like 4__?_3} and u—m’( which are indeclinable. They eventually generalized
that, all relative pronouns are among indeclinable words and forgot to exclude
relative pronouns for masculine and feminine dual relative pronouns.

In contrast, the students who opted for () uhﬁ-"f (two pens) and (<) il (the
house) lacked knowledge on Declinable and Indeclinable words in Arabic, but
they relied on guesswork.



Item (4) was as follow:-
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The item was about Special Five Verbs (w Juassi ). The students were
required to mention a kind of tenses which are always in a nominative case by
firmness of nun (a;-d»' i—u-u) in accusative and jussive cases by 0m15510n of nun
(L,U‘-'-U u—'—*) among the options given. The correct answer was (<) i) JadS
(Five Verbs). The students who responded correctly to this question had
sufficient knowledge of Five Verbs of the Arabic Language.

On the other hand, students who opted for the rest of the distractors were wrong.
The students had insufficient knowledge about (Five Verbs). Hence, they failed
to choose the correct answer.

Item (5) was as follows:
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The item was about Inna and its counterparts ( (451 53/ 5 &). The item required the
students to choose sentence which was grammatically incorrect among the given
options. It was intended to assess the students’ knowledge of using of Inna and
its counterparts ( CJJ»‘J-*U uj The students who opted for the correct answer (<)
had sufficient knowledge of Inna and its counterparts ( W»‘_PU u) The students
knew that, the particle inna and its counterparts always make a subject of a
sentence in accusative case and becomes its name as it make predicate to be in
nominative case and becomes its predlcate Therefore, they realized that the
option (<) contained name of kaanna (uf-"’ A«) which was the book (‘-H’-ISJU
whereas had been in nominative case ending with sound /u/ (fﬁj‘) instead of
being in accusative case ending with sound /a/ ( i juaia ).

The students who opted for the distractor (1) sl thought that, the
sentence was incorrect. The students ignored the particle inna which changes the
subject from being in nominative to accusative case.

Some students chose the wrong answer (z) sl 4¢sti/) </ These students
incorrectly thought that, the sentence was grammatically wrong. This is due to
the fact that, they confused the word (<) with (¢<) which could make the word
4¢slél to remain in nominative case as it is and the word 4a<L to be in
accusative case.

On the other hand, there were some students who selected the alternative () J&/
Jheaid y ol The students thought that, the sentence was wrong because they
did not see the sign far’ha on the word (=& and sign of dhamma on the word
gk The students knew that, subject becomes in accusative case while its
predicate remains in nominative case whenever they preceded by J&/ but they
failed to know that the sign of accusative (nasbu) and nominative case (raf'u)
could be the letter yaau () and alif respectively.



Item (6) was as follows:

This item was about Definite and Indefinite Nouns ( &MU b—f-'-@ The students
were supposed to show a specific terminology used for definite noun in Arabic
Language among the four given alternatives. The item intended to measure the
students’ knowledge of Definite nouns (442<«). The students who were
knowledgeable in this topic, realized that, the terminology used for definite noun
in the Arabic Language was ( 4 pal) (al-maarifat). In that sense, they opted for
option (<) which was the correct answer. This is to show that, this kind of
students were competent in this topic.

In contrary, those who went for other alternatives, they were simply incompetent
in that area of Arabic Language. For example, the students who opted for (/)
5 £ (al-nakra) comfused it with the word (442« (al-maarifa) in (2) which was
the correct answer. This is due to the fact that, the terminologyé < (al-nakra)
is the viceverser of (44 2</l) (al-maarifa).



Item (7) was as follows:
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This item was about an object of a sentence (4 Js2ds). The students were given
a task of choosing an object (4 Jsde ) among the given alternatives. The item
intended to examine if the students understood well the definition of object of a
sentence (4 Jseds ). The students who had a good understanding in this area
opted for the option (z) "<&/ (the book). This is due to the fact that, the word
showed that it was something which has been read by Kassim. Therefore, this is
regarded as an object (4 Jsde ) in a sentence analysis. This showed that, the
students who chose the correct option were competent in the topic of an object
(4 Jsie).

The students who opted for the (/) J«<d/ were wrong. These students did not
understand that, the object of the sentence should be mansuub. The noun which
was chosen by the students was in majruu. This word 1s just like adverb in
English or Swahili Language and not an object of the sentence.

Also, the option (<) A« was chosen by the students with knowledge less of an
object (4 Jsxds ). The students confused an object of the sentence with the doer.
This 1s due to the fact that, there is a narrow difference between them; The doer
(=) did an action while object (4 J/s2és) the action done on it.

On the other hand, there were some students who opted for the distractor (2).
They failed to understand exemplary sentences provided. They also lacked
sufficient knowledge of an object (4 Jseie ), hence they failed to identify the

9



correct answer. Moreover, the students did not understand the definition, correct
sign (al-i’iraab) and the position of object (4 J#2ds) in a sentence.

Item (8) was as follows:
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The item was about Noun (a~¥/) The item tasked students to provide a plural of
a singular noun "f&f” (mind) from a sentence “is Al Jeel” The students
who opted for the correct answer (<) djif- (minds) realized that, the noun in the

option is correct plural of the provided singular noun. This means that, these
students were familiar with plural nouns and had enough Arabic vocabulary.

On the other hand, the students who opted for the incorrect answer (1) "s3te"
confused the plural noun of the word " fae" (mind) with the plural of some
words like "ate" (scholar) which has the plural stefs (scholars). Furthermore, the
students who chose (z) "<2&" confused it with the plural form of some words
in the Arabic Language. While the students who opted for the distractor (=)
"Jie" knew nothing about plural nouns.

The students who opted for other alternatives lacked plural nouns knowledge in
the Arabic Language.

10



Item (9) was as follows:
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The item was about ‘Tenses’ (<4 <ua (w Jadll aludf ). The students in this item
were required to determine a right past tense indicated in the given sentences.
The item intended to assess the students’ knowledge of perfect tense. The
students who were competent on verbs opted for the correct answer (1) <2ela”
"Jjiall 4 tgef 4ablé (Fatma helped her mother at home). These students chose
that option due to the fact that, the sentence comprised a past tense “<ele"(she
helped) which carried zaa of feminization (4Sted/ Eeuilill £ and it is among signs
of past tense in Arabic Language. Apart from that, they understood the meaning
of words 1n all provided sentences; hence they managed to choose a correct
response easily.

In other part, the students who chose other distractors they lacked sufficient
knowledge on the topic of the past tense and had insufficient vocabulary in
Arabic Language.
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Item (10) was as follows:
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The 1item was about Transitive and Intransitive Verbs (ﬁjif{j ‘.;-k-?-d»‘ Jwﬂ This
item demanded students to determine intransitive verb (9;:’351 Ju-fﬂ, a verb which
did not carry an object. The students with knowledge of these kinds of verbs
opted for distractor (z) " " (he travelled). They managed to do so, because
this 1s only a verb which does not need an object.

On the other hand, the students who opted for the rest of the distractors were
wrong. This is due to the fact that all of them require objects to bring a
meaningful sentence. Therefore, evidencing lack of knowledge and skills about
topic of transitive and intransitive verbs.

Summing up the question, the students who scored full marks on this question
were knowledgeable about topics such as nawaasikh (Annulars of Subject and
Predicate), nouns (singular/plural) and verbs.

2.1.2 Question 2: Matching items
The question consisted of five (5) matching items. It was about Demonstrative
Pronouns ( 5)’-’-3_?;‘ #Lil)). The students were required to match each statement in
List A with its corresponding pronoun in List B by writing the answer in the
place provided. The question was as follows:

12
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The question was attempted by 2,536 (100.00%) students. Out of whom 1,181
(46.57%) students scored from 4.0 to 5.0 marks, which is a good performance.
In addition, 657 (25.91%) students scored from 2.0 to 3.0 marks, which is an
average performance. Lastly 698 (27.52%) students scored from 0.0 to 1.0 mark,
which 1s a weak performance. The general performance in this question was
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good since 1,838 (72.48%) students scored from 2.0 to 5.0 marks. The overall
students” performance in this question is summarised in Figure 2
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Figure 2: Students’ Performance in Question 2

The data shows that, the competent students were able to match the sentences in
column A with their corresponding demonstrative pronouns in column B. One of
the students who performed well in this question for example, matched item (1)
(pfl il $idi Aniai') with (A) 248, Ttem (2) ik pl G dase 3 with (7)1
Ttem (3) e jdadl 4 plidiaa Slidtbwith (1) oGt | Ttem (4) with (<) #¥3 and item (5)
el e Ao e sl with (9 Gl

Generally, the students who responded well in this question had enough
knowledge on the Arabic demonstrative pronouns and how to use them in the
sentences. Extract 2.1 shows a sample of the correct responses from one of the
students.
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Extract 2.1: A Sample of the Students’ Responses to Question 2

The Extract 2.1 1s a sample of responses from one of the students who matched
Colum A with B correctly.

On the other hand, there were 657 (25.91%) students who scored average marks
in this question. These students provided correctly two to three responses out of
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five. This 1s due to the fact that, the students had partial knowledge of
Demonstrative pronouns.

On the other hand, some students performed poorly in this question. Some of
them matched only one sentence in List A with the correct pronouns in List B,
while those who scored zero failed to match all sentence in List A with
appropriate pronoun in List B. One of the students, for example, matched the
item (1) (af ) 5ids 4auai ) with the pronoun (/4  which is the
demonstrative pronoun instead of (#4). The student matched incorrectly the
sentence in item (2) b Abf e e a4 with pronoun "' =" () which 1s
demonstrative pronoun used with female dual things in accusative or genitive
cases. The student in this category matched incorrectly the sentence in item (3)
Lo jaadl 4 Gliza Glidlh with pronoun (<) £¥3 which is demonstrative pronoun
applied with human plural.

Moreover, the student incorrectly attached the sentence in item (4) (sl
""C19.49 4«2 with the pronoun /4 (z) without realizing that, there is no relationship
between the pronoun /4 and that of the noun in the sentence.

Finally, the student attached the sentence in item (5) "_stal Jle s Sle ol with

the pronoun &t (1) instead of (48, Extract 2.2 shows a sample of the incorrect
responses from one of the students.
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Extract 2.2: A Sample of the Students’ Responses to Question 2

The Extract 2.2 is a sample of a response from one of the students who matched
all the items incorrectly.

2.2 SECTION B: Short Answer Questions

2.2.1 Question 3: Jumbled Words in Sentences
In this question, the students were instructed to re-arrange logically the given
words to form meaningful sentences. The question measured the students’
ability to formulate meaningful sentences. The question was:
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The question was attempted by 2,536 (100.00%) students and their performance
was good, as 2,014 (79.42%) students scored from 3.0 to 10.0 marks. The
analysis shows that 1,494 (58.91%) students scored from 6.5 to 10.0 marks
which is a good performance. Also, 520 (20.50%) students scored from 3.0 to
6.0 marks, which is an average performance. Lastly 522 (20.58%) students
scored from 0.0 to 2.5 marks, which is a weak performance. The overall
students” performance in this question is summarised in Figure 3.
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Figure 3: Students’ Performance in Question 3

The students who did well in this question were able to re-arrange the given
words correctly into meaningful sentences. One of the students who scored full
marks for example, in item (1), wrote " f4# L (et & /iLa" for the item (1) /e — L
o 5 — 44 — Furthermore, the students wrote " %/ <8 (o' in re-arranging
the item (2) which was ¢/ — «#4 — &/ The students wrote, " /4 Labld Ja"
¢4l s for the item (3) which was: & @ — Alay — Ja — 4ablé, Also, the students
wrote "fé g Jo <8 e’ to make the misarranged sentence in item (4)
becoming meaningful sentence. Finally, the students correctly arranged the
sentence in item (5) to be "'oY 4eladl aS” This suggests that the students
mastered well Arabic syntax. Extract 3.1 1s a sample of good responses from one
of the students.
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Extract 3.1: A Sample of the Students’ Responses to Question 3

Extract 3.1 represents a sample of responses from one of the students who
managed to re-arrange the jumbled words into meaningful sentences as the
question demanded.

The data shows that, 520 (20.50%) students scored averagely. Most of them
correctly rearranged two or three sentences out of five disarranged sentences
given in this question. This suggests that they had partial knowledge of the
Arabic Language sentence structure.

The students who performed poorly in this question lacked knowledge and skills
about Arabic sentence structure. Instead, some of them relied on guessing and

copying some words from the question instruction.
20



This indicates that the students who failed in this question did not know the
Arabic Language sentence structure, hence; they re-arranged the sentences
incorrectly. There were, however, some students who skipped the question. This
shows that the candidates lacked the knowledge of word analysis of the Arabic
Language. The following sample 3:2 illustrates the student’s weak responses in
this question.
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Extract 3.2: A Sample of the Students” Responses to Question 3
Extract 3.2 1s a sample from a student who was not able to re-arrange the

jumbled sentences. Instead, he/ she copied some words from the jumbled
sentences given in this question and made them as answers for this question.
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2.2.2 Question 4: Dialogue
The question was a dialogue between two people. The first person was asking
questions and the second person was responding to the questions. In this case,
the first person’s questions were revealed while the second person’s responses
were hidden. The students were asked to give answers basing on the questions
asked by the first person. This question measured the student’s ability to use the

Arabic Language in different contexts. The question was:
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The question was attempted by 2,536 (100.00%) students, out of whom 587
(23.15%) students scored from 6.5 to 10.0 marks, which is a good performance.
Also, 756 (29.81%) students scored from 3.0 to 6.0 marks, which is an average
performance. Lastly, 1,193 (47.04%) students scored from 0.0 to 2.5 marks,
which 1s a weak performance. The general performance in this question was
average. This is because, 1,343 (52.96%) students scored from 3.0 to 10.0
marks. The overall students” performance in this question is summarised in

Figure 4.
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Figure 4: Students’ Performance in Question 4

The students who were able to complete the dialogue in all items wrote correctly
the appropriate information required. These students correctly completed the
dialogue by replied answers based on the questions asked by Yaasir.

One of the students for example, in item (1) “fajdadl J <t 28" (When do
you go to school?) wrote that, At 4w jiafl J <43 (I go to school at morning).

The students were directed by their knowledge of using interrogative particle

"~a"(when) in answering the question as the particle used in this question to
ask about rime.

In item (2) "fdejtall 4 w5 JiLa” (What do you study at school?), the student
wrote; "duall il dejrall & " (I study at school Arabic language). The
student also realized the correct answer for the given question, because he/ she
knew the meaning and uses of the interrogative particle (/44 (what) used by
Yassir in asking the question.

The third item (3) ""fj-er' A Gl L g A5 (How many days do you study in a
week?), the student wrote "a-’:ﬁm u-u—’ffj-ww A" (I study five days a week)
for the question by Yassir. The student discovered that, the interrogative particle
() (how many) employed in the sentence to ask about number hence replied
that answer.

Likewise, the students in item (4) “fdw/ ot s cbdi oo/ A" (where do you go
after classes ) wrote, "JEal J b Ll s2” (After school I go home),
because, the question in this dialogue (cv) (where) directed him or her to know

that the question needed him or her to mention the place where he or she goes
23



after classes. This is due to the fact that, the interrogative particle in this
sentence used to ask for the place.

Furthermore, the student in the last statement which states €e*// £a (Good bye)
wrote 4eldl #a (Good bye) since the word correlates with it.

Therefore, these students in this category had sufficient Arabic vocabulary,
which enabled them to correctly determine which statements match with the
questions provided. Likewise, they were knowledgeable of interrogative
particles and how to use them in a sentence. The Extract 4.1 shows a sample of
good responses from one of the students who completed the dialogue correctly.
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Extract 4.1: A Sample of the Students” Responses to Question 4

The Extract 4.1 shows a sample of good responses from one of the students who
completed the dialogue correctly.

There were, however, some students (29.81%) who had an average performance
in this question. These students had partial knowledge of Arabic vocabulary.
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Some of them for example, were able to correctly complete the dialogue in some
parts of the dialogue.

Moreover, there were some students who failed in this question. The students
who scored zero in this question supplied wrong answers to all items of the
question. This shows that they lacked knowledge in this topic. Some of these
students for example did not understand the requirement of the question.
Consequently, some of the students left the question unanswered and some of
them copied some words from other questions and used them as answers. Also,
some of the students did not respond to any part. One of the students for
example, in item (1) wrote: "4ejiefl J 2™ The student could write o/ <3/
(aluo 4w s1al The student was wrong because, this statement does not correlate
with the question given by Yassir in this dialogue. Extract 4.2 is a sample of
poor responses from one of the students.
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Extract 4.2: A Sample of the Students’ Responses to Question 4
The extract 4.2 shows a sample of responses from one of the students. The

student for example. copied the word (¢=/ ) in item 4 and made it as answers
in this item.
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2.2.3 Question S : Interrogative Particles

The question was about inferrogative particles. In this question, the students
were instructed to fill in sentences with correct interrogative particles given in
the bracket. It was intended to measure the students’ ability to use interrogative

particles in sentences. The question was:
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The question was attempted by 2,536 (100.00%) students. The data shows that, 580
(22.87%) students scored from 7.0 to 10.0 marks, which is a good performance.
Also 662 (26.10%) students scored from 3.0 to 6.0 marks, which is an average
performance. Lastly 1,294 (51.03%) students scored from 0.0 to 2.0 marks, which
1s a weak performance. Further analysis shows that, the performance of this
question was generally average. This 1s due to the fact that 1,242 (48.97) scored
from 3.0 to 10.0 marks. The overall students’ performance in the question is

summarised in Figure 5.
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Figure 5: Students’ Performance in Question 5
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The analysis shows that, (22.87%) students had a good performance in this
question. The students who scored full marks, for example, selected /4L’ for
the first item. They were able to do so after looking at the answer" 4z s o/ ¥
(Because my mother 1s sick) which was provided in the item. This answer which
explained the reason of Zainab’s cry, directed them to choose the appropriate
interrogative particle (/4/ ) (why) for the question.

In item (2). the students selected '/i" (what) for the item (2) which was
"agll jgall ST Gf cun Ul $agull JSG 5 cas ... " you like to eat today?
Today I like to eat banana). They managed to choose appropriate interrogative
particle (/4L) because the answer in this item led them to do so. In addition, the
students understood that, the statement explained about something which was an
object and not human being, hence; pushed them to select appropriate
interrogative particle (/4) (what); which is absolutely applied to ask about
things and not human being.

Also, the students mastered well grammar because they managed to fill the

correct interrogative particle (.~4) (when) in item (3) which was ¢ i Ead L., "
Mowa¥l Euadd (L you go? I went yesterday). This is because they were

directed by the statement came after the question mark ((«e¥t <utd) (I went
yesterday) which explained the time of going, as they knew that, the word (.4
(when) can be used to ask for the time.

Furthermore, the students filled the gap in the item (4) which was 43/ ......... "
" AEal) (e S A TaLls (L took your book? He took my book from the bag)
with the word ¢/ (where). They managed to do so because of the statement
came right after the question mark which was "4x8all (s =S 30" (He took my
book from the bag), the statement was talking about where the book was taken.
Hence, they picked an interrogative particle (v (where) which is also applied
to ask about a place. In addition, the students correctly filled the gap in item (5)
by writing "' «&S". Extract 5.1 is a sample of good responses from one of the
students.
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Extract 5.1: A Sample of the Students” Responses to Question 5

Extract 5.1 shows a sample of responses from one of the students who correctly
responded to the question.

Furthermore, the analysis indicates that, in this question, 662 (26.10%) students
scored from 3.0 to 6.0 marks, which is an average performance. Majority of
them managed to fill two or three words correctly in the incomplete sentences
given in this question. This suggests that they had partial knowledge of the
Arabic Language syntax.

Further analysis shows that, the students who performed poorly in this question
lacked Arabic interrogative particle knowledge, instead they relied on guess
work. One of such students with zero for example, wrote:

""/iLa"" for the item (1) instead of "3, This is due to resemblance between
the interrogative particle 13" (Why) and "13"" (What).

In item (2); the student wrote " V3l"" which is inappropriate for this question,
instead of "¢ 13" | This is due to resemblance between the interrogative particle
""" (What) and "3 (Why). Also, they did not understand their meaning.

In item (3); the student wrote, " " instead of ", In item (4), the student
wrote "' 3" instead of " (ul" .

Furthermore, the students wrote " a'" for the item (5) instead of " <", This

implies that, the students did not understand the meaning of Arabic interrogative
particles as they were not rich in vocabulary; hence, they lacked the skills of
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using interrogatives particles properly. Extract 5.2 shows a sample of a good
response from one of the students in this question.
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Extract 5.2: A Sample of the Students” Responses to Question 5

Extract 5.2: A sample of responses from the students who provided correct
answers in question 5.

2.2.4 Question 6: Pronous (J-r‘hi'ﬂp

This question was about Pronouns (_te). It comprised of five items. The
students were instructed to fill in the gaps with the appropriate detached
pronouns. This question intended to assess the students” knowledge of using
detached pronouns in a sentence. The question was:
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The question was attempted by 2,536 (100.00%) students. The analysis shows
that 1,949 (76.85%) students scored from 0.0 to 2.0 marks which is a weak
performance. Also, 388 (15.30%) students scored from 3.0 to 6.0 marks, which
1s an average performance. Lastly, 199 (7.85%) students scored from 6.5 to 10.0
marks, which 1s a good performance. The general performance of this question
was weak, as 587 (23.15%) students scored from 3.0 to 10.0 marks. The overall
students” performance in this question is summarised in Figure 6.

100
]0 | 76.85
70 -
60 -
50 -
40
30 -
20 15.30

10 -

Percentage of Students

7.85

0.0-2.0 3.0-6.0 6.5-10.0
Scores

Figure 6: Students’ Performance in Question 6

The analysis shows that a few students, 7.85 per cent scored from 6.5 to 10.0
marks. However, 2.8 students scored full marks in the question. One of the
students for instance responded as follow: The student wrote "&"(She) For
item (1), il for item (2), "a4" for item (3), "' La#" for item (4) and "< for
item (5). These show that, the students understood well the uses of detached
pronouns. Extract 6.1 shows a sample of good responses in this question.

31



R o R A e e
sl o 3 il patah A

-

Aodh A5 St 3 S €] ~f
e !aeh ;!j; H.! g,:’II.-

R L g (R | N b T
S goulks _ Ke @ -,

o
5 1

Aas5e8 1) Tad o aeds - —

Extract 6.1: A Sample of the Students” Responses to Question 6

The extract 6.1 shows a sample of good responses from one of the students who
correctly detached pronouns that correlate with the sentences given.

However, further analysis of the students’ responses shows that 15.30 per cent
of the students had an average performance in the question. Most of those
students were able to use appropriate pronouns in two or three items. This
average performance implies that the student had a partial knowledge of the
detached pronouns.

On the other side, there were 76.85 per cent of students failed to use detached
pronouns. One of the students who scored zero for example, filled the item (1)
with: (#4) (He) instead of (#) (She). In item (2) with: (=3 (You are going)
instead of (L) (You two) or (Led) (they two), in item (3) with () (she) instead
of (a4) (they male). In item (4) they filled it with (a#) (they male) instead of (Led)
and in the last item they filled it with (4 (who) instead of (<) (You female).
This shows that these students lacked knowledge of detached pronouns. Extract
6.2 1s a sample of responses from a student who failed to give appropriate
pronoun.
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Extract 6.2: A Sample of the Students’ Responses to Question 6

Extract 6.2 is a sample of responses from a student who responded to the question
incorrectly. The student copied some words from the question and used them as
answers.

2.2.5 Question 7: Reading for Comprehension

This question was about reading for comprehension. The students were required to
read the passage and answer the questions from the given passage. The main
content of this article was about Abraham who got an accident after getting into a
bus that was full of passengers and decided to stand on stairs of the bus. However,
when the bus was moving, it got a shock that caused Abraham to fell down to the
ground. The question was:
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The question was attempted by 2,536 students (100.00%), out of whom 105
(4.14%) students scored from 6.5 to 10.0 marks, which 1s good performance.
Also, 676 (26.66%) students scored from 3.0 to 6.0 marks, which is an average
performance. Lastly, 1,755 students (69.20%) scored from 0.0 to 2.5 marks,
which 1s weak performance. The general performance of the students in this
question was therefore good, considering that 781 (30.80%) students scored
from 3.0 to 10.0 marks. The overall students” performance in this question is
summarised in Figure 7.
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Figure 7: Students’ Performance in Question 7

The analysis shows that, 4.14 per cent of the students scored a good
performance in the question. Furthermore, 0.5 per cent of the students scored
full marks. One of the students for example, responded as follow: in item (1)
wrote (M 4and i Guls LBt 5¥ sl e 4ia) ) <di g Tn item (2) wrote: Al Lad
dand o wilSy Aal) S, 45/ (Ibrahim’s mistake was to get into the bus while it
was full). In item (3), the student wrote (z): (s#adls Lestils o jlisal 40 uas)) In
item (4) wrote: (4esjiall <fat) (The full bus) and in item (5) (=) he or she
wrote one advantage of this story. Some of the advantages of this story were:

(One message of this passage is) :# 4ebadlf 2i8 L/ gf (1o 518/ g 52018
(Patience is a key to everything or) sl s% JS glida juall -

(Do not get into a bus while it is full or) &/ /< das jo dlita S5y -
(Paying a visit to a sick person is crucial) /s age s/ (i sall ibe -
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In nutshell, the students who responded correctly to this question had enough
skills in reading for comprehension. Additionally, they had sufficient
vocabulary. Extract 7.1 1s a sample of good responses from one of the students.
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Extract 7.1: A Sample of the Students” Responses to Question 7

Extract 7.1 shows a sample of responses from one of the students who managed
to answer the question.

Further analysis shows that, 676 (26.66%) students had an average performance.
This performance suggests that these students had partial comprehension skills,
which hindered them from identifying all correct answers in the passage. Some
of the students for example, provided answers with grammatical errors.

On the contrary, there were some students 69.20 per cent who performed poorly
in this question. The students who scored zero in this question totally failed to
comprehend the message of the passage. Some of them did not recognize the
demand of the question. Moreover, they had inadequate comprehension skills.
Consequently, they provided incorrect responses to all items in this question.
There were some of them who copied some words from other questions and
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used them as answers. Some of them left the question unanswered. Extract 7.2 1s
a sample of weak responses from one of the students.
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Extract 7.2: A Sample of the Students” Responses to Question 7

The extract 7.2 shows a sample of responses from one of the students who failed
to respond correctly to the question.

2.2.6 Question 8: Meaningful Sentences

This question was about verbal sentence construction. The question demanded
the students to compose five Verbal sentences. The question was:



g

The question was attempted by 2,536 (100.00%) students, out of whom 897
(35.37%) students scored from 6.5 to 10.0 marks, which is a good performance.
Also, 277 (10.92%) students scored from 3.0 to 6.0 marks, which is an average
performance. Lastly, 1,362 (53.71%) students scored from 0.0 to 2.5 marks,
which is a weak performance. Therefore, the students’ general performance in
the question was average, because 1,174 (46.29%) students scored from 3.0 to
10.0 marks. The overall students’ performance in this question is summarised in
Figure 8.
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Figure 8: Students’ Performance in Question 8

The data analysis shows that, 35.37 per cent of the students scored from 6.5 to
10.0 marks which 1s a good performance. The students were able to construct
sentences correctly as required. This shows that the students were competent in
formulating meaningful sentences especially verbal sentences. Furthermore, the
students had enough knowledge of the sentence structure of verbal sentences.
Extract 8.1 1s a sample of good responses from one of the students.
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Extract 8.1: A Sample of the Students” Responses to Question 8

Extract 8.1 shows a sample of responses from one of the student who managed
to answer the question.



On the other hand, 277 (10.92%) students had an average performance. These
students scored below 6.5 but not less than 3.0 marks in this question. The
analysis show that, the partial knowledge of the students contributed to their
performance. For instance, some of them provided sentences in some parts with
minor grammatical errors; this indicates that they had partial knowledge on how
to construct verbal sentences.

Furthermore, some of the students performed poorly in this question. These
students were incompetent in verbal sentences construction. That is because they
had insufficient vocabulary and sentence structure knowledge. However, some
of them, failed to understand the demand of the question. Consequently, they
provided incorrect responses to all in this question. There were, however some
of the students who left the question unanswered. Extract 8.1 is a sample of
incorrect responses from one of the students.
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Extract 8.1: A Sample of the Students” Responses to Question 8

Extract 8.1 shows a sample of responses from one of the students who were not
able to answer the question.

2.2.7Question 9: Al-Iiraab (</Y)

This question was about Sentence Analysis. The students were required to
analyse the underlined words. The question tested the student’s ability of
identifying the roles of different words in the sentences. The question was:
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The question was attempted by 2,536 (100.00%) students. Of them, 2,008
(79.18%) scored from 0.0 to 2.5 marks, which 1s a weak performance. Also, 375
(14.79%) students scored from 3.0 to 6.0 marks, which i1s an average
performance and 153 (6.03%) students scored from 6.5 to 10.0 marks, which is a
good performance. The general performance of the students in the question was
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therefore weak, since 528 (20.82%) students scored from 3.0 to 10.0 marks. The
overall students’ performance in this question 1s summarised in Figure 9.
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Figure 9: Students’ Performance in Question 9

The analysis shows that, the students who had a good performance in this
question demonstrated a high level of understanding the roles of different words
and their signs in the Arabic Language. One of the students for instance
responded as follows:-

In Item (1) wrote

AT o 5 all daid duai dadle g i pals 4y forde sl S|
The student knew that, the noun (&~ is an object because the action was done
on it. Also he or she knew the sign of an object in the Arabic Language.

Moreover, another clue that made the student to realize the word (&~_) as an
object is its position within the Arabic sentence structure whereby an object
always comes after a verb and subject (doer) of an action.

In item (2) wrote: _

o AT Ao 5l dad duai Aadle g i paris Gf a2 fitd) — o
One of the indicators that made him or her to respond correctly was that, the
word (<) (the scorpion) came after annular anna (&) and they understood
that any first noun following any annular () and its counterparts (4&/s3/5 J)
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shall be in accusative case (<.#<%9) ending with sound /a/ and second noun will
be in nominative case (£ ending with sound /u/.

In item (3) wrote:

cililaa g4 g dwall) placs) o Y gLl 0 g dadle 5 (o) g pae pudd 28 rlid -
A il ilS

The grammatical fact that made the student to do so is that, they knew that, the
noun (<4 is among the Five Special Nouns (4wl glew¥) which when is
proceeded by genitive article (), it always becomes in genitive case (_Li29.

Furthermore, they knew that, Five Special Nouns are always in nominative case
(e s49 ending in waw, for example: (4ed, 4is 33 o) in accusative case
(Ls<aiy ending in alif, for example: (¢t Sele) and become in genitive case
(L5249 ending by vaa, for example: (Lol & 49).

In item (4) they wrote: _

S 5Sedl) s dale g o)) 5 e £ iz Jad i
The students realized that, any verb in present tense form when it 1s preceded
by jussive articles (pad/ <l g), it must be in Jussive case (Les a9,

Lastly, in item (5) wrote: _ ‘
LCuilil] Uil g speidl) o iva e Jod pCidd —
The students realized that any perfect verb is indeclinable word (9.

Apart from that, They knew that, the perfect verb will be indeclinable by far-ha
when it is not linked with anything, or linked with taa of feminization ( <Ll £Li
4std) at the end or linked with afif of duality (C=&¥/ <) at the end.

In addition to that, The students who answered the question correctly were

familiar with origin and un original signs of a/-i’iraab (</<Y)). The extract 9.1
presents students whom responded the question correctly:

43



AP PRCHF )
Coded g o
55
S R B T g D O O IR T I P 173

E;'-ﬁa’,’i)'l\s‘blivj -

P SeARN
{‘—' ’_ % “’-.’ - o P 3= = " B | - -
h)

RO AT I L T
aow

AN Gl B, 402800 92 T Ay ardaates M Yerda Bhid
- . L - > 3 -
A\ _e\les Q.\) 5\ 5 G\ 5_."1‘:_“"‘3‘

ke M

= ~

] o v - s -’,ﬂ‘-“’"b‘ bl . "

’_ﬁ‘ “J, S,g-\h_\\ ‘-ﬂS'—"'h. .g\.a',.q- ‘\.n\'.‘&.’-: Q&f ’('J‘\’:rml'éfgé Das
y b )

- &
¥ )

2 - - - -
N AEE L oo ke Dt KSR esod st s

Extract 9.1: A Sample of the Students” Responses to Question 9

Extract 9.1 A sample of responses from one of the students who provided
correct answers in question 9.

The analysis of the students’ responses shows that 12.5 per cent of the students
had an average performance in the question. Most of them either failed to
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provide correct answers to some parts or provided responses with grammatical
errors. Others students in this category provided incomplete answers to some
parts or to all parts of the question. Furthermore, some of the students in this
category left some parts of the questions blank. This performance can be
attributed to students’ partial knowledge of inflection and analysis.

According to the data, 2,008 (79.18%) students scored from 0.0 to 2.5 marks
which 1s a weak performance. On the other hand, 48.42 per cent of the students
scored zero. The students failed to analyse all the underlined words in the
question due to their knowledge less of this topic. Consequently, some of the
students left the question unanswered and some of them copied some words
from other questions and used them as answers. One of the students who scored
zero for example, responded as follow:
G e s il Juf s S

This student was distracted by the far-ha at the end of the word. He or she knew
that any word with far-ha at the end is a verb in past tense form (Ute J2¢)

g 4 prda re dad) - o
What made the student to do so was verb (<9 which comprised of verb and
its subject (el J29. Therefore, they thought that, any word comes after it is
an object (4 J/s2é9 without considering the word Anna ()

s p] S g g ign s i
The student incorrectly explained it. He or she was attracted by the nature of
word (<4, which made him or her think that was a genitive article and the
word after 1t was a noun in genitive case (Loa4s ).

0 AT 2 5 LB 5 pusS 4a ja Aadle g i g jaa ad a3
The student failed to explain it. He or she incorrectly thought that, the word o/
was a noun. However he or she did not know that, the particle before it is used

with verbs.
In item (5)
dLabld A jlhaad rcuad— 4

The student just copied words from the sentence itself and changed their
positions as a result of his or her knowledge lees in that subject.



The following extract is one of the samples from one student who provided
incorrect responses in this question.
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Extract 9.2: A Sample of Poor Responses in Question 9

Extract 9.2 A sample of responses from one of the students who failed to
analyse the underlined words. As a result, the student left the question
unanswered.
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2.3 SECTION C: Composition
This section had one (1) question which carried fifteen (15) marks.

2.3.1 Question 10: Essay Writing
In this question, the students were required to write an essay on the importance
of availability of schools in his or her country. The question was:

B a3 0 aghg M 35 g S0 B 08, His 8110
G T
ol (e G WIS

The question was attempted by 2,536 (100.00%) students. The general
performance in this question was weak, as only 360 (14.20%) students scored
from 4.5 to 13.0 marks. The data shows that 2,176 (85.80%) students scored
from 0.0 to 4.0 marks, which is a weak performance. Also, 305 (12.03%)
students scored from 4.5 to 9.5 marks, which is an average performance and 55
(2.17) students scored from 10 to 13.0 marks, which is a good performance.
The performance in the question is summarised in Figure 10.
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Figure 10: Students’ Performance in Question 10

The analysis shows that 85.80 per cent of the students performed weakly in this
question. On the other hand; 68.10 per cent of the students scored zero in this
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question. The students wrote answers which were not related to the demand of
the question. For example, some of them just copied some words from the
questions and used them as answers. A few of them composed unclear essay.
This shows that, the students had poor mastery of Arabic Language. Extract
10.1 shows a sample of incorrect responses from one of the students.

M"L&s SL& ag 2528l Do ,M_:,:.al Ess
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Extract 10.1: A Sample of the Students’ Responses to Question 10

Extract 10.1 above shows a sample of responses from a student who provided
incorrect responses. The student copied some words from question 7 and used
them as answers.

On the other hand, a few students had an average performance in this question.
These students wrote essay on importance of availability of schools in his or
her country. However, most of them failed to organize their points in a logical
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order and did not provide sufficient explanations. Moreover, there were,
however, some students who mixed incorrect and correct responses.
Additionally, their responses had a lot of grammatical mistakes and spelling
errors.

Further, the data analysis shows that, students who had a good performance in
this question, explained the Importance of Availability of Schools in his or her
Country. Although, they arranged their ideas in a good flow, their responses
had few spelling mistakes and grammatical errors. This implies that, these
students had sufficient vocabulary in the Arabic Language. Extract 10.2 shows
a sample of good responses.
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Extract 10.2: A Sample of the Students’ Responses to Question 10

Extract 10.2 is a sample of responses from one of the students who performed
well in question 10, although, his or her responses had spelling mistakes.

51



3.0

4.0

ANALYSIS OF STUDENTS’ PERFORMANCE ON EACH TOPIC

The analysis of the students’ performance on each topic in the Form Two
National Assessment (FTNA) in the Arabic Language subject in 2023 indicates
that, the topic Nakra and Maarifa (%aalls 5 <) which was tested in question
number two (2) had a good performance (72.48%). The good performance
(70.90%) also occurred in the topics; Noun(a~¥!), Muurabu and mabniyyu
(Asadly i pall) Types of verbs in term of time((= M s a Jadll aledl) | Verbs
(J2é¥)): Object (& Jsréal) Kaana wa Akhwaatuha; ( gl 53l o8), Nakra and
Maarifa 4 aalg 5 50), Inna wa Akhwaatuha; ( PEPp ), Conditions of binaai
and Irabu (<= ¥5 £l Jiss)) and The special five verbs(4waidl Ji28¥) which
were tested in question one (1) (multiple choice question).

Furthermore, The following topics had an average performance: Meaningful
sentence (dxdall aall) (62.86%), Dialogue (/s) (52.96%), Interrogative
particles (48.97) and Reading for Comprehension (30.80%).

On the other hand, the data shows that, the following topics had a weak
performance: Pronouns (stadl) (23.15%), Original and Unoriginal Signs of
Vowels (4 _dlly Lla¥l <l o) ciladle) (20.82%) and Composition (14.20%).

The students’ performance on the topics is summarised in Appendix A,
whereby, green colour indicates good performance; yellow colour an average
performance; and red colour, a weak performance on the topics.

CONCLUSION

The data analysis has revealed that, the performance of the students in 2023 has
increased by 0.89 percent compared to the year 2022. This is due to the
increasing in performance in the topics Nakra and Maarifa, Meaningful
sentence, Dialogue, Interrogative particles, Origin and unorigin signs of
vowels and Composition by (40.98%), (9.86%), (4.16%), (47.57%), (5.22%)
and (7.9%) respectively.

However, with this increasing in performance, three (3) of the eight (8) topics
assessed in other questions, excluding the first question (multiple choice
question), had a poor performance. The topics were: Pronouns (23.15%),
Original and unoriginal signs of vowels (20.82%) and Composition (14.20%).
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RECOMMENDATIONS

Based on the analysis of the responses given by the students, the following are
recommended 1n order to improve the performance of the students:

(a) The teacher should present examples of different written composition topics
to the students and explain to them the procedures and steps of writing
articles. After that, he/she should present title of different topics and then
ask students to write about the topic titles given, in groups. Then the teacher
should mark the work. When the teacher discovers any weakness from
them, he or she has to correct them.

(b) In order to increase the level of performance in Pronouns, it 1is
recommended that, the teacher should present to students enough examples
of sentences with different pronouns to see how they are used in sentences
during teaching and learning process. The teacher then can explain them in
details while focusing on the detached pronouns in the sentence. Also the
teacher should involve students in discussing about how to create sentences
that contain pronouns after explaining to them in detail. Finally, the teacher
should give the students an exercise concerning the topic, and then she or
he has to mark it for them within the classroom.

(¢) During teaching and learning process the teacher should provide examples
of sentences that include I'raabu signs; aswlivva and far'ivya on changed
and unchanged words. He/she then should explain to the students about the
sentences in details while focusing on: I'raabu signs; aswliyyva and far'ivva
on these words. He/she has to guide the students to give more examples of
sentences about the topic. After that, he/she should ask the students
questions from their sentences about the topic. After that, the teacher should
present different sentences which include the topic. Then to ask the students
to analyse them in groups. The teacher should mark the work. When the
teacher discovers any weakness from them, he or she has to correct them.
On the other hand, the teacher should make sure that, each topic he or she
teaches provides enough exercises about inflection. (</L<Y).

(d) The teacher should make sure that, each topic he or she teaches provides
enough exercises about inflection (<L<¥)) or hukmu.

(e) The students should be taught how to respond to essay question, including
how to write good introduction, main body and conclusion. In the main
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body for example, the students should be taught basic things to consider
such as how to start a new paragraph, how to organize sentences in a
paragraph and how to close the paragraph.

(f) Teachers should guide students to study a given grammar text. Students
should identify the grammar practice and give examples based on that
grammar.

(g) Teachers should guide students to express their daily routine and past
events using verbal and nominal sentences.

(h) Teacher should guide students to select topics of composition and write the
first draft in pairs or groups focusing on the content of the topic, correct
spelling mistakes and grammatical errors.
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Appendix A: Summary of Students’ Performance who Sat for The Form
Two National Assessment (FITNA) in the Arabic Language
Subject in 2023

2023

The
percentage of

Question students who

S/N Topics scored an Remarks
average of
30% of marks
and above

Number

Meaningful sentences
3. (31dall ULasl)) 3 &8 62.86 Average
4. | Dialogue (/saJ) 4 52.96 Average
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2023
The
percentage of
Question students who
S/N Topics scored an Remarks
Number
average of
30% of marks
and above
Interrogative particles
5. (algii) "U—’D 5 48.97 Average
Reading for
o Comprehension (3#/4) ! 30.80 Average







